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2012
TRAVEL AGENCY MANAGEMENT-III

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for the following :

10x 1 =10
i)  Airlines code of Indigo is
a) 9w b) IT
c) Al d) 6E

ii) The acronym for PNR is
a) Passenger Not Related
b) Passenger Not Record
c) Passenger Name Record
d) None of these.
iili) NUC stands for
a) Neutral Unit of Construction
b) National Unit of Currency
c) Natural Unit Code

d) Neutral Underrated Currency.
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iv) Lufthansa is the airline of which country 7
a) Hong Kong b) Germglg‘;ii I A
c¢) France d) Switzerland.
v)  Lagos is situated in which IATA sub-area ?
a) TC-1 b) TC-2
c) TC-3 d TC-4.

vi) In Airline Industry how many ABC/OAG guides are

available ?
a) 3 b)) 2
c) 4 d) 1.

vii) Three letter city code for Khajuraho is
a) KHJ b) KHA
c) HJR d) KHR.

viii) The headquarters of Galileo is located in which

country ?
a) Germany b) U.S.A.
c) UK. d) India.

ix) The airline code number of British Airways is
a) 001 b) 125
c) 098 d 074.
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X) MCT stands for IS
a) Maximum Connecting Time
b) Maximum Covered Time
¢) Minimum Covered Time

d) Minimum Connecting Time.

GROUP - B

( Short Answer Type Questions )

Answer any three of the following. 3x5=15

2.  Write a note on normal cargo and dangerous cargo.
3. Discuss the concept of Cargo insurance in Indian context.

4. What is Aircraft Cargo Configuration ?

5. Write the capital, city code and currency of the following

countries :

a) Thailand
b) Singapore
c) Malaysia
d) Nepal

e) Sri Lanka.

6. Write a note on travel formalities.
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11.
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GROUP - C
(Long Answer Type Questions){ -

Answer any three of the following. 3 x 15 =45

Write short notes on the following :
a) Airlines coupon

b) Travel docket

c) CTM check.

Write short notes on the following :
a) E-ticket

b) CRS

c) Baggage allowance.

Briefly explain the growth and development of air-transport

and freight industry in India.

What is ICAO ? Explain its aims and objectives with special

reference to Chicago Convention.

Write down the steps involved in calculating the airfare as

prescribed by IATA .




